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deducted for each wrong answer. A wrong answer means
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question. Leaving all the relevant circles or bubbles of any
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7. Each question has four alternative responses marked serially
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8. Use of Mobile Phone/Bluetooth Devices or any other
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prosecuted under Section 3 of the State Prevention of Unfair
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1.

During 24 hours there is a time when
plants neither release O, nor CO,. This is

the time of

(A) Noonhours  (B) None of these
(C) Day light (D) Twilight

24 1 % SR V@1 ff T e gt R S
@Y T A0, Bigd & CO, | 7§ T
BT 8

(A) TEITH
(C) feera wemar

(B) T4 § =18 7l
(D) | Y19l

When the moon is near the horizon, it

appears bigger because of
(A) Scattering of light

(B) Total internal reflection ﬁ?ﬁ

(C) Diffraction

(D) Atmospheric refraction
& =gl % wfia gar d,
% IO §ST el B R |

(A) BT % Fehiulq

(B) ot iafies wrardH

(©) foada

(D) STgHEE ST

What is the normal amount (approx.) of
haemoglobin in a healthy adult male ?

(A) 6—8gm/100 ml of blood -

(B) 13— 18 gm/100 ml of blood

(C) 1922 gm/100 ml of blood

(D) 22 -28 gm/100 ml of blood

T Y 9% T65 1 €I ivenfem o
A (@) feraeht gt € 2

(A) 6-8u1./100 firefl.

(B) 13 - 18 11./100 fireft. w6

(C) 19-2271./100 firett. T -

(D) 22 —-2891./100 fireft. ww

|
|
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Match the following :

a. Apiculture 1. Grapevines
b. Silviculture 2. Honeybees

c. Viticulture 3. Forest trees
ﬁﬁf?ﬁﬁﬁﬁq:

a. Thshe=R 1. R HA @t

b. fafcasmeer 2. YaFE e
c. Tafesre=t 3. F-guq
Codes /%2 :
a b ¢
(A) 2 1 3
B) 1 2 3
© 3 2 1
D) 2 3 1

Sugar can be tested in a Diabetes patient
by

(A) Denige test (B) Benedict’s test
(C) Barford’stest (D) Elisa test

R Lt A
H I qHA R |
(A) = (B) sAfswe 2w
(C) SHER (D) Comrw

- Fruit ripening is stimulated by
(A) Cyto-kinin (B) Auxin
(C) Gibberellin (D) Ethylene
;a TR %GR 3eEa et

!

(A) oEA-wRE  (B) iR
(©) N=fem (D) el

The word ‘Vaccination’ has been derived
from a Latin word which relates to

(A) Dog (B) Cow

(C) Horse (D) Hippopotamus
YT’ T TH 'c'?fﬁ? Wse § o 8,

Rreepr gey 2

(A) TR
(C) O ¥

(B) T &

©) FERIE
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Match the following :
‘Harappan Site Place
a. Kalibangan 1. Punjab
b. Mohenjodaro 2. Rajasthan

s Harappa 3. _Gujarat
-d. Surkotada 4. Sindh
P = iR R
BT e _ H
a. A 1w
b. WETIEH 2. TSEIH
C. B€Wl 3. TS
d. gree 4. fau

Select the correct answer using the codes
given below :

ﬁ%%ﬁ%@%mwaﬁmgﬁ

Codes /%2 : gﬁ

a b ¢ d
(A) 2 4 1 3
B) 4 1 3 2
<) 3 2 1 4

3 4 1

(D) 2

Which of the following is the correct
chronological order of the given
dynasties ? '

(A) Kushans, Guptas, Mauryas, Nandas

(B) Nandas, Mauryas, Kushans, Guptas

(C) Mauryas, Nandas, Kushans, Guptas
(D) Guptas, Kushans, Nandas, Mauryas

fre # @ 9w R e goEw w5 a9d

HTATTR & ?

(A) F, TH, B, 7
(B) &, K, gmor, 7
(C) W, Fe, 9, @
(D) M, T, 7, T
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10.

11.

Consider the following statements :
In the reign of Jahangir, Kandahar could
not be recaptured due to

1. Inefficiency of Mughal army

2. Refusal of Khurram to proceed to
that place.

3. Difficulties in organizing an
expedition.

4. Severe cold in Afghanistan

Which of these statements are correct ?

(A) 1,2and 4 (B) 1,2and 3

(C) 2,3and4 (D) 1,2,3 and 4

forefrRea awreat W e

FERTR % IR |, HYR T 3% RO

T 3rTrepr A& ferarm <1 wemt

1. T &A1 Y STHE

2. G g 38 WH WHT § R

3. oI e o wigargat

4. FETEE ¥ IES 38

Sﬁ@taﬁ?ﬁmm%?
(A) ,L2W4 - (B) 1,2q-e'r3
(C) 2,3W4 (D) 1,2,3 T 4

The Iqta system was provided
institutional status by

(A) Iltutmish

(B) Qutubuddin Aibak

(C) Balban

(D) Alauddin Khilji

THT W1 S T ot feaes g e

™ 7 |
(A) Fegar
(B) FIILEH W
(C) wered

(D) I3 fgersht



12.

13.

14.

The Indian National Army was organized
to fight against ‘

(A) Germany and Japan

(B) Russia

(C) South Africa

(D) The British in India

‘femm Fema il 1 e *
Raetrs wre % forw fomem o |

(A) S wE SUH (B) &9

(C) efam skl (D) wia & 3

What is the correct sequence of the
following events ?

1. Partition of Bengal

2. Jallianwala Bagh Massacre
3. Quit India Movement

4. Simon Commission Report

ﬁmﬁmmaﬁwaamw%?

. OrEEd HHYE T
(A) 1,2,4,3  (B) 4,3,1,2
©) 1,2,3,4 D) 1,4,2,3

Bangladesh was liberated on
(A) 14" December, 1971
(B) 15% December, 1971
(C) 16" December, 1971
(D) 17*® December, 1971

LU ! T g o |
(A) 14 femws, 1971
(B) 15 femww, 1971
(C) 16 femwar, 1971
(D) 17 femws, 1971

15.

16.

17.

“the - Constituent

Who out of the following was elected by
Assembly .as its
permanent President ? :

(A) Dr. B.R. Ambedkar
(B) Mahatma Gandhi
(C) Dr. Rajendra Prasad

(D) Vallabhbhai Patel

= o 9 el i g sos wrft
A o T H AT T AT 2

(A) . .3, aEH

(B) wErenT et

(C) . T J41g

(D) e T

The elective strength of the Lok Sabha -

was increased by the

(A) 44™ Amendment
(B) 31 Amendment
(C) 42" Amendment
(D) 40" Amendment

% g ek g ) fratem gen
# gfg &g oft |
(A) 448w (B) 319 @9
(C) 423 TmMem (D) 40d Ty

The order in which the following
personalities were elected as Presidents
of India is

1. S.Radhakrishnan

2. Rajendra Prasad

3. N. Sanjiva Reddy

4. Zakir Hussain

P s % W % TEaR oY
T T UE A -

. @ OUGEE 2. TS TER

3. W.EfEigE 4. SR g

(A) 2,1,3,4 (B) 2,3,4,1

© 2,4,1,3 D) 2,1,4,3
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18.

- the following is correct ?

19.

104A

Given below are two statements labelled
as Assertion (A) and Reason (R). In the
context of the two statements, which of

Assertion (A) : In India, people elect
their own representatives.

Reason (R) India has deinocracy.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

= fow 7 ) areFedl W WU (A) I T

(R) & &9 & fufga forar man 2 | S apea}

FogH A, i asmwamg 7

YA (A) : WA H, AT AW & H
wfafafr gweht 2 |

T (R) : WA o I B |

(A) (A) W (R) 3H1 e 8 3R (R), (A)
Hé ST R |

(B) (A) W (R) GHi &4 €, 76 (R), (A)
6 T ST T R |

(©) (A) 97, g (R) 3w R |

(D) (A) I8 8, TG (R) ¥R |

Which Union Ministry of India

developed the Good Governance Index
aiming to map the good governance of

the states based on various indicators ? !22'

(A) Ministry of Personnel

(B) Ministry of Home Affairs

(C) Ministry of Finance

(D) Ministry of Parliamentary Affairs

I % fore darer g fafdm gl |

ITYTIE T % GTEA i HIGH & e |

GUTEH YT fenfera forar a2 i
|
|
|

(A) mfﬁmusrm

(B) T8 HTeT™ A
(C) Torm vaer ‘

(D) HHEHE R AT

5

20. Who was the first Vice-Chairman of

21.

NITI Aayog ?

(A) Piyush Goyal

(B) Nirmala Sitharaman

(C) Arvind Pangaria

(D) Raghuram Rajan

ey 3T 3 e IuTeaE B & 2

(A) R TR (B) fefem dammor
(C) 3Ifa g (D) T T

Which Amendment Act of Indian
Constitution extended the reservation for
ten years to SCs and STs in Lok Sabha
and State Assemblies besides doing away
with reservation for Anglo-Indian
Communities ?

(A) 104® Amendment Act, 2020

(B) 105" Amendment Act, 2021

(C) 103 Amendment Act, 2019

(D) 102" Amendment Act, 2018

e wiem o fp weitem stfrfem g
T 3R TSy i faum st #
Fqqfa Sfa & STgRya S %
STTEIT <] Wl TS TR & ST
S W@ g g8 a1 & forg wgmn w2
(A) 1044t weneE 3rfrfvrm, 2020

(B) 10591 wene= srfufem, 2021

(C) 1035 " rferfarm, 2019

(D) 102af gene= rfufem, 2018

Which of the following Indian states has
the maximum number of common
borders with other Indian states ?

(A) Rajasthan

(B) Andhra Pradesh

(C) Uttar Pradesh

(D) Madhya Pradesh

e el ot 3 & B O afeream
3T R TS & T |re e B 2
(A) TS (B) 3Ty wew

(C) ST (D) He4 5e



23.

24.

25.

" d. HOCL

d. @.3&.@{;@. A

The widest gap across the Western Ghats is
(A) Thal Ghat (B) Palghat

(C) Khandwa Gap (D) Bhor Ghat
qfeet w1 % ST-9R ged e fae }
(A) U HRE (B) U TR |
(C) e fat (D) ¥iREwE

Match the following :
Companies Products
a. BHEL 1. Iron and Steel
b. HAL 2. Chemicals
¢. SAIL 3. Electricals

4. Aeronautics

Frefafaa = gafea =i .
ol

a. Mwaiva. 1
b. TE.U.UH. 2
c. THUIE.TE. 3.
4

TG
. g 3R T

TR
TR
Codes /%< :

‘a
(A)
B)
©)
D) 2 | |
Bhakra Nangal, Hirakud and Kosi
projects are situated on the rivers !
respectively
(A) Godavari, Mahanadi, Kosi
(B) Sutlej, Mahanadi, Kosi
(C) Sutlej, Mahanadi, Purna
(D) Beas, Mahanadi, Godavari |

— W W

W N by
W N R —=e
o= N R

uREST AT, EFE 3w afEed |28

HH: A wmfRm ) |
(A) T, e, e ;
(B) A, HEMEY, i |
(C) Hae, HgMa), Uit |
(D) ST, HEWEY, Teradt

26.

27‘

6

Brominated flame retardants are used in
many household products like mattresses
and upholstery. Why is there some
concern about their use ?

1. They are highly resistant to
degradation in the environment.

2. They are able to accumulate in
humans and animals.

Select the correct answer using the code
given below :

(A) 1 only ~ (B) 2 only

(C) Bothl1and2 (D) Neither 1 nor 2

ST ST e Y S Te] STel 8

el 3R T % WHHL A YF1T feman ST

2 | % T @ e TS e

g7 |

1. ¥ woiaw ¥ fefeor & 3= O
g

2. 3 gl IR IFEd # wwia g A
wmE | |

2 fw o et § @ Wt SwUEH
(A) F9a 1 (B) %9 2
(C) 1224t (D) A 1TTH2

‘Social forestry’ term was first used in
India in

wﬁ‘wﬁmaﬁw’%mmm

Hgerman |
(A) 1966 (B) 1976
(C) 1985 (D) None of these /
T 4 HE T

Which day is celebrated as the World
Ozone Day ?

(A) 16% September (B) 20™ October
(C) 21%tNovember (D) 12 December

forva 3N few frg fer v ST 8 2

(A) 16 o (B) 20 3T

(C) 21 JavaT (D) 12 femwr
104A

29.

30.

31.

104A

-The Indian

On 31* August, 2021, nine new Supreme
Court judges took oath. Now the number
of woman judges in the Supreme Court is

31 3P, 2021 % gET <A % N T

IS A IOy o | e wEE A o

fgen sl 1 deT @

(A) 4 ®) 5

©) 6 (D) None of these /
T S A

On 1* September, 2021, who inaugurated

a parliamentary outreach programme to
empower Panchayati Raj Institutions
(PRIs) in the Union Territory of J & K ?
(A) Shri Narendra Modi

(B) Shri Amit Shah

(C) Shri Om Birla %
(D) Shri Rajnath Singh

1 Rmwr, 2021 & 99 W FHR
HEui & # TR TS et
I HA & 70 T0ET 9T HriHT i
Igued forem fomam 2

(A) fizAE  (B) st HAfia g
() #ftsim fogen (D) st o e

and Algerian navies
conducted their first ever naval exercise

off the coast of Algeria on August 29, -

2021. Which ship represented India ?
(A) INS Dronacharya

(B) INS Kalki

(C) INS Trishul

(D) INS Tabar

29 3T, 2021 @i Ie=HTE F TYgaE W

URG g FeSiEn 61 Nast g o

Hrafes s forar ma | Rre SRR wRa

w1 gfefftre fomam 2

(A) 3. T ud. R
(B) 31E.WA.wH. Hfeh
(C) as.w.wE. fow
(D) . TA.TH. G

~3

32.

33.

[
>

On 1* September, 2021, SBI opened a
floating ATM on

(A) Naini Lake, Nainital

(B) Chilka Lake, Puri

(C) Dal Lake, Srinagar

(D) Nakki Lake, Mount Abu

1 ez, 2021, WY @@ oo, A
R AT g AW, G |

(A) F s, Fame

B) Fores gfter, T

(C) & e, s

(D) 7 $a, A< g,

Ujjwala 2.0 (Pradhan Mantri Ujjwala
Yojana) launched on 10" August, 2021 at

(A) Panipat, Haryana

(B) Mahoba, U.P.

(C) Bhopal, M.P.

(D) Gandhinagar, Gujarat

Ioeaell 2.0 (WU ISSaen dieMn)
W10 31T, 2021 3 IRAT foRaT TR |
(A) urftad, i

(B) wevam, gt

(C) Ware, wa. i,

(D) TR, e

On 7 July, 2021, which of the following
ministers took oath as new Cabinet
Minister of Heath and Family Welfare ?

(A) Mansukh Mandaviya

(B) Kiren Rijiju

(C) Rajkumar Singh

(D) Dr. Harshvardhan

7 S, 2021 ® = § @ few W 3

| TS Td YNGR HeT % 70 S w5t %

&9 F yoy ot ? |
(A) wgE wief (B) T fifem
(C) TNgaR i (D) o g

| (s ]



35.

36.

37.

Which of the following pair of Central
Government Scheme and its launching

date is incorrect ?

(A) Atmanirbhar Bharat Abhiyan — 13%®
May, 2020

(B) Mission Karmayogi - 20"
November, 2020

(C) Pradhan Mantri SVANidhi Scheme
— 1% June, 2020

(D) Samarth Scheme — 14" May, 2020

Fg TSR I ASHIA T ITh oA
it & Frefafga 3@t 8 @ o8 @ ad
T R?

(A) et aE SRR - 13 7, 2020
(B) Torm swaRft — 20 TR, 2020

(C) urwst T fafy A - 1 5, 2020

(D) e AT - 14 7, 2020 %

Which State has appointed Sonu Sood as

. the Covid Vaccination Ambassador ?

(A) Haryana (B) Maharashtra
(C) Punjab (D) Gujarat

fr TST A W IE I Hifdg dHET &
YETEt % &9 g R g 2 |
(A) g (B) HEMY

(C) W (D) TSR

Who has been honoured with the
prestigious 51% Dada Saheb Phalke
Award at 67" National Film Awards
Ceremony ?

(A) Akshay Kumar

(B) Amitabh Bachchan

(C) Rajini Kanth

(D) Vinod Khanna

674 T fhen qwwR wuRE § AR
R 519 < g’ Bed JEHR ¥

- g R T R 0

(B) 3fram 5=
(D) forg @

(A) 38T FAR
(C) e

Tri——— TGS TN TIKMIUNOD WNIHYOS WAKEHADS MDY TS s WSS THIDLETS

38.

39.

Consider the following statements

regarding Krishna Nagar of Rajasthan :

1. He belongs to district Jaipur.

2. He won gold medal in Tokyo
Paralympics.

3. He won medal in Para-badminton
Men’s Singles SH3 event,

4. He is coached by Gaurav Khanna.

Which of the above are correct ?

(A) 2,3and 4 (B) 1,2and 4

(C€) 1,2and3 (D) 1,3and 4

TISTEYT 3 01 R % gay A et

oAl R fomm Hifd :

1. wEwg e S wEia g

2. IaM dw Yufafiee & o uew
Sfar ‘

3. I Y-Seficd g9 wHe SH3
s # wge S | |

4, % Tive g e e |

S AARM AT g ?

A) 2,334 (B) 1,234

(C) 1,233 (D) 1,3 34

i3 fre v afR-redg ad 2 ¢
(A) el =e: + feew |

(B) Imfirermst = 71 + AP

(C) wRved =gt + Vv

(D) {errgEr = {d + STgam:

. T 3 @ fra fpen & weft vt & et

T T (1) HITATEIATE ?
(A) Ja:Hf, TR
(B) sfyinm, sreamed

(C) ThIeA, SAENTA

(D) 3ruflgen, IF9g

104A

41.

42.

43‘

44.

45.

104A

‘Bear W e g 1 3T R 7 46.
(A) AT B) &g
(C) HHuT D) 5%
fore forerea & wrsg-gmm w1 27 - w7
27 |

I - ?ﬁ
(A) TE-aed -~ wR-gE
®) fa-dm - fem-ia 4
(€) F-av@m - gAi-wfEa
(D) amf-amdt — afa-ff
o farrea i wft e e Tt
g7 |
(B) foryy, wertafa, wewer
(C) e, wiRiar, 3ATafa
(D) =&}, uftan, aferen
T fyepeu o femgm @ 7
A) Fra-frg (B) v-Tm
(C) ucpa-Froga (D) Hae-w9& i49.
frefafge v w famm it
1. e |
2. qroftuger
3. ol g
4. SATTHNY | ;50
fFafmadafi v gg d ? |
(A) 1,233  (B) 233 g
(C) 334 (D) 134

R ) g P 3 & g I
gy - | |

(A) TR TS T TS SR |

(B) M W3 ATC FET R |
(ORSEIRACER RS

(D) UG Th ATETIHIT H7 § |

Topa arerrier 3 fore srg g wneeh T R 7

(A) R <frar 3 51 W% _ s

(B) fmada smHE I — Iatw

©€) AMFIRH T _ qEiE
(D) Frmem agvE feem W

TR )

fre fopea # St oty wisg 1
Ty Tt wifonfyes e i & 7 |
| (A) Assent - AT

" (B) Defamation — HMEIN

(C) Informal - afiuaifes

(D) Conclusion — G&ATSAT

“ZHell & g1 e ETR 1 W 3
(A) 31f¥res afeerg e

(B) 31 gt = <t & e

(C) TT=ITEITY T

(D) Sieafires shog@ &

. Tem fmew o ‘Adjournment’ W Q)
T Tt wifonfs wg wdi 8 7

(B) wfan
(D) &

CNREEIE]
(C) IS



Read the following passage and answer the
questions given below (51-55) :

A private workplace always helps. Jane Austen
asked that a certain squeaky hinge should never
be oiled so that she always had a warning
whenever someone was approaching the room
where she wrote. William Faulkner, lacking a
lock on his study door, detached the door knob
~and brought it into the room with him. Mark
Twain’s family knew better than to breach his
study door—they would blow a horn to draw
him out. Graham Greene went even further,
renting a secret office; only his wife knew the
address and the telephone number. After all,
everyone of us needs a workplace where we
can work on our creation uninterruptedly.
Equally we need our private space too!

A daily walk has always been a source of

, ., inspiration. For many artists, a regular stroll was

essentially a creative inspiration. Charles
Dickens famously took three hour walks every
afternoon, and what he observed on them fed
directly into his. writing. Tchaikovsky could
make do with a two-hour jaunt but wouldn’t
return a moment early; convinced that doing so
would make him ill. Ludwig van Beethoven took
lengthy strolls after lunch, carrying a pencil and
paper with him in case inspiration struck.
Nineteenth century composer Erik Satie did the
same on his long hikes from Paris to the working-
class suburb where he lived, stopping under street
lamps to jot down ideas that came on his journey;
it’s rumored that when those lamps were turned
off during the war years, his music declined too.
Many great people had limited social life too.
One of Simone de Beauvoir’s close friends puts
it this way. ‘There were no receptions, parties. It
‘was an uncluttered kind of life, a simplicity
deliberately constructed so that she could do her
work’. To Pablo the idea of Sunday was an ‘at
home day’.
51. The passage is about:
~ (A) how to practise walking

(B) walking every day

(C) the life of a genius

(D) what we can learn from the routmes

of geniuses

52.

53.

4.

55.

56.

57.

The writers in the past :

(A) followed a perfect daily routine
(B) enjoyed the difficulties of life
(C) can’tteach usalot

(D) wrote a lot in books

In their daily routines :

(A) they had unique life styles

(B) they read books and enjoyed them
(C) they did not get any privacy

(D) they did not mind visitors

Some artists resorted to walkmg as 1t was ;
(A) an exercise

(B) a creative inspiration

(C) essential for improving their health
(D) helpful in interaction with others

To Pablo, the idea of Sunday was an :
(A) at home day
(B) off day

(C) atamall day

(D) at friend’s place day

Find out which part of the sentence has

an error.
My lawn, which is overgrown, needs
weeding.

(A) My lawn

(B) which is overgrown

(C) needs weeding

(D) No error

Find out which part of the sentence has
an error.

No sooner did he see his teacher when he
stopped copying.

(A) No sooner did he see his teacher
(B) when he

(C) stopped copying

A man of straw

(A) A very active person
(B) A worthy fellow

(C) A reasonable person
(D) A man of no substance

f (D) No error
|58.  Give Synonym of
i Perspicacious
(A) Bad (B) Clear

| () Hazy (D) Shrewd -
i 59. Give Antonym of :
i Dilettante
l (A) Professional (B) Tidy

~ (C) Stupid (D) Rapid
3 60. Give meaning of the following idiom :
|
g .

104A

61.

62.

63.

64.

104A

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it :

freaforfega srem 9t f g5 sER g § 5
36 12 7@ 7 ferepedi O ¥ w F 36
L} e g
ab_da_beda_bb_d_a_beed

(A) cacaab (B) aaabbb

(C) ababac (D) aabbce

From the given pairs of words, you have
to select the pair which is closely related
in .the same way as the words of the first
pair.

Pen : Paper : :
(A) Hammer : Wood
(B) Teacher : Principal

(C) Dog : Bark s

(D) Knife : Meat

& ™ wrg} % gt & @ sve) swgmoa
T HAT § N TUH W & Tod) il W@ &
HH ; BTS¢ :

(A) giEr Tl (B) e : e
(C) Fui: o6 (D) =g : Wi

Choose the group of letters which is
different from others.

&R % I TG 1 9 HL 5 37 &
g

(A) BDF (B) JLN

(C) RTV (D) ACF

Which letter will be 15% to the left of 7t
from the left end in English alphabetical
series ?7

S utaren s@en o 9@ B Y 79 1R
% ST 3R w7 1 59T 1&R B °1 8 2
(A) O (B) P

© Q (D) R

Directions (Questions 65 to 67) : Below is
given a passage followed by several possible
inferences which can be drawn from the facts
stated in the passage. You have to examine
each inference separately in the context of the
passage, decide upon its degree of truth or
falsity and choose your answer accordingly
from amongst the alternatives provided
thereafter.

Dryland farming is the only way to not
only combat recurring drought but also meet
the increasing food requirements of India.
About 45% of India’s total crop production
now comes from drylands. By the end of this
century, this will have to increase to 60% if
India is to provide adequate food for projected
population of one billion by the turn of the
century.

f&w (3% 659 67) : T2 T TRede 3tk IuH
ag e gt Fred o e & ) wieede §
o et @ freprer S awa § | aftede % wel
Yoo T it gore §Y @ wiE W st 39%
HE YT TG BH T B 7 vk dem & ik
3% 1g fed T fersmedt & @ aroen) TR 7 I
FER
qmmmaﬁmmm
1 Fgdl! @rer AT H g 1 it v U Ien
jqﬁr@?ﬁ% | YR % T T eqTe 1 AT 45%
JerceT 9§ e S @ AT R | AR W ) wrared
1% aia 7 vafva v fuferm e w5 vt
!me%ﬁwm%mwsﬁ
60% TP TG BN |

3

| ,

|65.  Dryland farming is important for India.
i (A) Data inadequate (B) Definitely true
I (C) Probably true (D) Probably false
| T e & e e

| (A) o 321

(C) |veq: Tl

B) Ffrasraad
(D) 9ed: Tt

11 ‘ o



66.

67.

68.

69.

70.

India is self-sufficient in food production.
(A) Definitely true (B) Probably true
(C) Data inadequate (D) Probably false
YA el IeTeH H STeAFR R |

(A) PR sraad (B) avad: @8l
(C) I (D) |ed: TTerd

In India, the rate of growth of population
is 15 percent per year.

(A) Data inadequate (B) Probably true
(C) Definitely true (D) Probably false
Wi ¥, e g e uf o 15 vfowk @ |

(A) roaTd 3T (B) @vaa: wel
(C) FiRma s dad (D) "waa: T

A man said, “This girl is the wife of the
grandson of my mother”. How is the man
related to the girl ?

(A) Husband (B) Grandfather
(C) Father-in-law (D) Father

T JTEH! 3 T, “qg el 3 H b I A
geht & 1 e ergeh § FA Tl B 7

(A) wfa
©) 8§t (D) forer

If ‘QUIZ’ is coded as ‘RVJA’, how will
you code ‘CLASS’ ?

afg «QUIZ’ ! ‘RVIA® Ffea e T 2,
3T “‘CLASS’ %1 F T SR ?

(A) NCDFQ (B) DMBTT

(C) BMBUU (D) TTBND

A walks 10 m North, then he turns right
and walks 10 m. And then turning left
each time, he walks 5 m, 15 mand 15 m
respectively. Now, how far is he from his
starting point ?

(A) Sm (B) 15m

) 25m (D) Zero

A T femm 8 10 et wroran B, Fe o Rl
3R gEH 10 Hiet weran B 3R a5 & T
T T S I8 HE: 5 HieY, 15 Hietaen
15 et SreTa § | 379 9 319 IR g @

fraft g m g ?
(A) 5HIe (B) 15
(C) 25 ¥ D) =

(B) M1/ ,

71.

72.

73

|
|
!
|
!
|
|
|
|
|
!
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Five friends A, B, C, D and E are sitting
on a table. E and B are sitting together. E
and C are sitting together. A is on the

~ extreme left. B is second from extreme

right. Who is sitting between A and B ?

(A) OnlyD (B) CandD

(C) Only E (D) Cand E

gt fir A, B, C, D 99T E TF 386 W3
fIETMBUR I |ETNCEY 4
FIATIOR MR, BT BRAGETR |

AT B F T B F318 2
(A) & D (B) CTND
(C) HAE (D) CAME

Suresh is older than Jiten but not as old
as Samir. Piyush is older than Nitin but
not as old as Jiten. Who among them is
the oldest ?

(A) Piyush (B) Suresh
(C) Jiten - (D) Samir
g 39 o ofiee @ s 3 W wHi e

T& | frw Ao @ w1 R W Sfiew R
T | ey oY A ST § 2
(A) TRy (B) T

(C) o= (D) EHR

Which one of the given responses would
be a meaningful order of the following
words ?

1. Seed 2. Fruit

3. Plant 4. Food

(A) 1,4,2,3 B) 3,1,2,4

©) 1,3,2,4 D) 2,1,4,3
PreferRa e 3 aret 7 R T e
A Y N 91T B 2

1. o= 2. %

3. den 4, @™

(A) 1,4,2,3 B) 3,1,2,4

©) 1,3,2,4 (D) 2,1,4,3

104A

74.

75.

76.

77.

104A

Which letter will replace the question
mark ?
99 3% 1 T R T STER A 2

(A Y
© W

Supply the right letter for the Question
Mark (?) :

T a1ar & wv g (2) WETEE R
CGKOS;AEIMQ;EIMQ?

(A) S BV

©OT ) U

From the given pairs of words you have
to select the pair which is related in the
same way as the words of the first pair.
Music : Guitar : : :

(A) Water : Tank

(B) Pen : Pencil

(C) Nose : Face

(D) Word : Word Processor

fawTTe S} 3 T & ST 36 TH BT
AT R ) T Y % W] oh) TG & wafed
g

ﬁTﬁH CﬁZT{ . e

(A) U : Th

(B) e : U@

(C) % : A8W

(D) V1&g : I8 W

Choose the odd one out from the given
alternatives.

3 frepedt § 4 o s g |

(A) 40016 (B) 200 -8
(C) 30012 (D) 50018

rLAAIAED VIAPIANDD LS GLOSE KBTS WRRBGLINCY TRIKEAS WD ISR THUDOLND MG TINBAMGD

[y
W

78.

79.

(B) L E@%
(D) O

80.

81.

Which letter will be 10% to the right of 5%
from left end in English alphabetical
series 7

37t Fofaen Soft § 98 B | 53 AW F
Treff AT 10T e B A A 2

(A) P (B) R

© Q (D) O

D’s father is B’s son. C is the uncle of D
and A is the brother of B. How is A
related to C ?

(A) Son

(B) Uncle

(C) Brother

(D) None of these

DHRATBH AR | C, D %1 3iHet § 3N

A,BHITER | A, CH A Hafra g 2
(A) & (B) e
(C) ¥ (D) T A HIE TE

If “SOUPS’ is coded as ‘SPUOS’, how
will you code ‘TENDER’ ?

Ff2 <SOUPS’ % *SPUOS’ Ffed fohat TIT
2, & 379 “TENDER’ %1 % 1 7181 2
(A) XIRHIV (B) REDNET

(C) WHQGHU (D) SDMCDQ

Ashok went 8 km South and turned West
and walked 3 km, again he turned North
and walked 5 km. He took a final turn to
East and walked 3 km. In which direction
was Ashok from the starting point ?

(A) South (B) South-East
(C) North-East (D) East
73t 8 Fop. R eftror ot e T S fvew

%) s g3 71 39K 3 TR, =en, AT
IR ) 70 g1 3N 5 Re.H. = | S
& e el Arg foerm ofit 3 fo6. 4. =@ |

7 3Ry feig & o SR E R ?
(A) ef&or (B) fur-gd
(C) Sw-gd ©)

o]



82.

83.

84.

Six plays P, Q, R, S, T and U are to be
staged from Monday and ending on
Saturday, not necessarily in same order.
Play R is staged on Tuesday, Plays P, U
and Q are staged one after the other in
same order. Play S is not staged on
Monday or Wednesday. Which play is
staged after R ?

®: AH P, Q, R, S, T W& U I, & &
% seft ohw o, Aiwar @ 39 § wivaR 7%
SR % 8 | A R HEER HY g,
e P, UWQ@%m@sﬁmﬁ
WeR 63 T | e S WEAR SremE
YR ! TERIa TE = T | R F 9

I 1 e Vel g 9
(A) P ®B) S
© Q D) T

If white means black, black means red,
red means yellow, yellow means orange,
orange means green, green means violet
and violet means blue, what is the colour
of human blood ?

(A) Red (B) Yellow

(C) Blue (D) Green

Tfe; &g 1 312t & e, et % 31l } AT,

e w1 31 | e, dien B 31 § e,

Wﬁmaﬁ%%ﬂ,‘é‘{waﬁ%ﬁﬁaﬁt
St o 379 & fen, TrE T HT TR R 9
(A) T (B) e

(C) e (D) &0

Which one of the given responses would

be a meaningful order of the following
words ?

1. House 2. Road

3. Room 4, Hamlet

5. District

frafafea weal =1 arefgul s o3 7 Semd
o B I T B2

1. = 2. 49g&h

3. wHU 4. @el L
5. T

(A) 3,1,4,2,5 (B) 3,1,2,5,4

©) 3,1,2,4,5 (D) 3,2,1,4,5

Directions (Questions 85 to 87) : Study the
following information to answer the given
questions :

A word arrangement machine when given an
input line of words, rearranges them following
a particular rule in each step. The following is
the input and the steps of rearrangement.

Input : but going for crept te light sir
Step-I : crept but going for te light sir
Step-II : crept going light but for te sir
Step-1II : crept going light but for sir te
Step-III is the last step for this input.

As per the rules followed in the above steps,
find out in the given questions the appropriate
step for the given input.

g (197 85 @ 87) : @ 1 woAlt T SR A ¥
FrferReaa AT w1 31

e g fomma wefia 6 9w wree) < FRwm @ @
Il 2 79 98 v W § us fafde fem
ST o I8 TS ferd L et B | oy Pl
3 G ST % TR

faw
TT-1
-1
ce 1 crept going light but for sir te
TI-111 39 Frew o sifem =or 8 |

IR = 7 ST femi % s e et
% o 2 forerr % for s =ror Y

: but going for crept te light sir
: crept but going for te light sir
: crept going light but for te sir

85. If the input is ‘true se veto be nuke my
like’, which of the following will be Step-
Iv? ‘
Ife f4a91 B “true se veto be nuke my like’,
FraferRea # & % w1 =O-1v 8m 2
~ (A) like nuke true veto be se my
(B) be my like se true veto nuke
(C) be my se like true veto nuke
(D) veto true nuke like so be my

14 104A

- 86. Input : more fight cats cough sough acts

idea

Which of the following steps would be
the last step for this input ?

38 : more fight cats cough sough acts

idea
ﬁw%«f@ﬁwﬁﬁﬁ:mwﬁ%w%m
iferm =ror B 2

(A) 1T ®B) Iv

(S Y (D) VI

87. 1If the second step of an input is ‘clever
remand window sales batch tiger never’,
which of the following will be its sixth
step ?
ofe freht frawr &1 g@U = R “clever
remand window sales batch tiger never’,
T o & geehT DT =0 S A1 BT 2
(A) window remand clever sales batch
tiger never

(B) clever remand window batch sales
tiger never

(C) batch never sales tiger clever
remand window

(D) It cannot have sixth step. /

$E1 BT =T TET B A |

88. In the following question, find the
missing number :

ﬁw%f@ﬁmﬁgmﬁ@nﬁmﬁ:
>/3° “2>/ >/
(A) 66 (B) 62

) 72 D) 76

g, Q2-321244176) _,
17x15-15
(A) 300 (B) 272
(©) 124 (D) 196

104A

o

s A O8 THLAIOURSS T WSS THURKANO0 TrUN NS WMIIRS? T Ay SRS WA
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90.

91.

92.

Find the average of square of first six
natural numbers.

mﬁwmmﬁ%aﬁmaﬂm
Bickad

(A) 11.17 (B) 15.16

(C) 17.20 (D) 13.70

A bag contains 1 rupee coins, 50 p coins
and 25 p coins. The number of coins are
in the ratio of 2.5 : 3 : 4. If the total
amount is ¥ 420, the number of 50 p coins’

18

s 1 1wy, 50 e aur 25 4 % s
2| fmi s gem 2.5:3: 4% U A
# | af 3o TR T 420 2, 50 1 % Rl
HaEa g

(A) 332
(C) 454

(B) 222
(D) 252

A cylindrical vessel of radius 4 cm
contains water. A solid sphere of radius
3 cm is lowered into the water until it is
completely immersed. The water level in
the vessel will rise by :

T SRR ars Freeh) e 4 ot @ art
U R | w3 e Rt B 3 At
2 ) it § A ek TeT T 9 ok fob 9%
T g TE T | T W T ®R e

9 9
4 2
| © —9—cm (D) -9—cm

If a man spends ¥ 875 per month and

saves 12 —1-—% of his income, then what is

his monthly income ?

Ife T arreH iy wig T 875 @Y w8
WMW%l_z—i%aﬁmm%

ar g AT I TR 2
(A) % 1,000 (B) ¥1,100
(C) 21,110 (D) 1,010



94. A certain sum of money becomes three

9s.

96.

(C) 63.2Fw.mm.

times of itself in 20 years at simple
interest. In how many years does it
become double of itself at the same rate
of simple interest ?

(A) 10 years (B) 12 years

(C) 9 years - (D) 11.5 years
WY o1 R U i gmafir 20 o o

- geh! T B et § | 5w e

T g fohe o o e g A ] 0
(A) 1099 (B) 12 99
(C) oad (D) 11.5 ¢

At compound interest, if certain sum of
money doubles in n years. The amount
will be four fold in :

(A) 4n® years (B) _;:nz years

(C) 2n years (D) i—n years

hlg SIS T, AfE Ffeera omofd n o &
AT A & O T IR TEr Bt

(A) 4n? 9§ (B) %nz ELK

(C) 2nad i (D) —i—n &

If 45 m of a uniform rod weighs 171 kg, | 100.

then what will be the weight of 12 m of
the same rod ?

(A) 45.6 kg (B) 50.3 kg
(C) 63.2kg (D) 33.9kg
afe 45 e FH THIHAH B FT 991 171

fpm. 8, AsdiaEH RHasesHiaT |

framam 2
(A) 45.6fhmn.  (B) s03feam.
(D) 33.9 ..

"

99.

|
! :
|
|
|
|
i
|
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97.

98.

A trader sold a mobile phone set for
% 13,560 with a discount of 12 percent
and gained 21.8 percent. If no discount is
allowed, then what will be his gain
percent ?

@mﬁlzm@%m? 13,560 |

# WIS BN Ve = 3R 21.8 Sferwra v
foran | afe # g = & ot 2, < sak
T T Yfersra a1 gem 2

(A) 26.5% (B) 42.5%

(C) 46.5% (D) 38.4%

If the cost price of 10 articles is equal to -

the selling price of 7 articles, then the
gain percent is :

R 10 Tegalt ) T B, 7 T B
Torspar i & sraR 8, o o v @
(A) 33.33% (B) 21.33%

6

(C) 51.33% (D) 42—_—/—%

8+4(3~-2)x4+3-7=7
A) 4 B) 9
© 1 (D) 3

The difference between the length and
breadth of a rectangle is 23 m. If its

_perimeter is 206 m, then its area is

(A) 2840 m? (B) 1250 m?
(C) 2520 m? (D) 2240 m?
T ST <h! TS AT <178 o offer 23 et

mm%w&mqﬁmzomﬁaé,
o THT AR & o
(A) 2840 it (B) 1250 & Hiex

(C) 2520t Hiex (D) 2240 &0t i

104A

101.

102.

103.

- (C) 50 paise

The length of a rectangle is increased by
10% and its breadth decreased by 10%.
The area of the new rectangle :

(A) remains constant.

(B) is increased by 11%

(C) is decreased by 11%

(D) is decreaged by 1%

T TR h T8 1 10% SGTT T AT
IGehl HTTE Y 10% T T | T AT
T &S

(A) THEHT AR |

(B) 11% Sg @12 |

C) 11% l '
() e AT &

(D) 1% BT E |

If the price of banana is decreased by
20%, 5 bananas more can be purchased
for the same amount ¥ 10. What was the
initial price of one banana ?

(A) 65 paise (B) 55 paise

(D) None of these
afe A Y FHT B 20% T I 8,

- IH Ui 2 10 7 5 et Srfre TG 1w

£ | T e B! T Hima R ot 2
(A) 6539 (B) 55%
(C) 509 (D) FHAHETE -

10 men can finish a piece of work in 10
days, whereas it takes 12 women to finish
it in 10 days. If 15 men and 6 women

undertake to complete the work, how

many days will they take to complete it ?
(A) 9 days (B) 5 days

(C) 10 days (D) 13 days

10 789 T %1 & e =1 10 f A i o
T &, e 38 10 fF § qof % & forg
12 AfgeTaT 6 smavasar gt 2 | afe H
ot %A T ST 15 789 T 6 Afgemd 33t
£ it e et 3 Py R o 2
A) 9t ®) 5fe

(C) 10f (D) 13fem

104A

104,

105.

106.

l
} 107,
|
|
|
|
|
|
|
|
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The average of 5 consecutive even
numbers A, B, C, D and E is 52. What is
the product of B and E ?

5 AT GH GEI3T A, B, C, D T E &1
3fted 52 R | B a1 E 1 UMW FhaT 8 2
(A) 2900 (B) 2700
(C) 2810 (D) 2800

If V be the volume and S be the surface
area of a cuboid of dimensions a, b, ¢,
then 1 is equal to

A"
T a, b, ¢ ST 3 THATH HT AEE V 3HR

1

I8 &% S B, 99 -{/_-saé; TR ]
(A) 28(a+b+2c) (B) S(2a+2b+2c)

© —2-(—1-+—1-+1) (D) S(a+2b+3c)
Sta b ¢ -

A hard disk is divided into tracks, which
are further sub-divided into

(A) Heads (B) Vectors

(C) Sectors (D) Cloud

T BTe T i 3w A faiva forem sman
2, Frg o 3u-ferrfre ferem ST @ -
(A) ¥ ®) dwAF
(C) &l & (D) FASE A

In a computer keyboard the Ctrl, Shift,
Del & Insert Keys are known as

(A) Special keys

(B) Function keys

(C) Standard keys

(D) Navigation keys

TH HR IS § Ctrl, Shift, Del 3R

Insertwiiﬁmﬁm% -
(A) e (B) Se N
(C) %6 Heit (D) E=Te it



108. (;omputer Monitor is also known as

109.

110.

111.

112.

H A H % &9 # oft s
ST # |

(A) DVU (B) CCTV

(C) UVD (D) VDU

You organize files by storing them in
(A) Folders (B) Archives

(C) Indexes (D) Lists

3 i T WERU &
AT A E |

(A) et (B) 3meiga 114,
(C) (D) gt

MS-Word is an example of
(A) An Input device

(B) Application software '

(C) A processing device %
(D) An Operating System

MS-Word T 3gTeeT &

(A) Femgffsr

(B) TAIRYH TGS &1

(C) w3huoT g 1

(D) ST o T

Which is the Linux Operating System ?
(A) Private Operating System

(B) Windows Operating System

(C) Open-source Operating System
(D) None of these

B |1 e y=Tem o 8 2

(A) TESE Y=o |5 '

B) g y=em @ !

(©) aﬂw—lﬁéwéﬁ 1116.

(D) ¥ & ¥

Which of the following is not considered |
as a hardware ? !
(A) Operating system

(B) CPU ,
(C) Keyboard i
(D) Hard disk !
=1 9 | Fordt o T 3w o 7 A l
ST R ? |
(A) ST 9 |
(C) e

(B) #i.4.7,
(D) e fe=
18

115.

113. What is the maximum length of the base

filename in older MS-DOS FAT file
system ?

TH MS-DOS FAT %§ Worrelt & a9
HIEe AT Y Ffrehan e w2
(A) 4

B) 5

©) 8

(D) None of these / 378 & I3 78!

LAN stands for
LAN %1 Ui &9 8

» (A) Local Area Network

(B) Large Area Network
(C) Land Area Network
(D) Line Access Network

What is the meaning of Booting in the
operating system ?

(A) Restarting computer

(B) Install the program

(C) To scan

(D) To turn off

e o § ‘g 1w e B & 2
(A) HE YT HET

(B) ST RIS HEAT

(C) T T

(D) SEHEI

Which of the following programs enables
you to calculate numbers related to rows
and columns ?

(A) Window program

(B) Spreadsheet program

(C) Graphics program

(D) Word program

= % @ = A e 3Rt U SR Hiem
= GEATRAT 6T T HA Y g T ] 2
A) fdiTmm (B) Sswie Tum
(C) mfsE Mo (D) I€ U™
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117.

118.

119.

Which type of view is not present in -

MS-PowerPoint ?

(A) Extreme animation
(B) Slide show

(C) Slide sorter

(D) Normal

MS-PowerPoint ¥ feFe TR &1 38 ()
IueTeR TE & ?

(A) W TR (B) WEe W

(C) Wge |k (D) W

Microsoft Office SharePoint Designer is

used for

(A) A WYSIWYG HTML editor and
web design program for customizing
SharePoint applications, it replaces
Microsoft Office FrontPage.

(B) Project management software to
keep track of events to create
network charts and Gantt charts.

(C) Diagram and flowcharting software.

(D) None of these

foe sram dar - ‘

(A) @ WYSIWYG HTML U 3R
IRRUTES TEAHIH Y HEAES HA
foe 9w fesmea Wum, 98 WiERER
P U HI A AT R |

(B) fiz = 3R Acash = HI ¥9H & 1w
AT T 3 T 1 IRFISHT Jaeq
R

(C) SR 3R Tl 1 W

(D) T B H1S T

Which of the following is not true about

RAM?

(A) RAM is a temporary storage area.

(B) RAM is the same as hard disk
storage.

(©) RAM is volatile.

(D) Information stored in RAM is gone
when you turn the computer off.

RAM & fu fm 4 e 7 2 2

(A) RAM T 3rereft Hemor 87 R |

(B) RAM ¥TE {5 serv & quH € 2 |

(C) RAM BRI 7 |

(D) RAM # wigTia gt el It & o
FAAFIR PTG |
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120.

121.

122.

Which of the following is an example of
an input device ?

(A) Scanner (B) Speaker

(C) Projector (D) Printer

?ﬁﬁﬁﬁ#m@,ﬁémg%mm
?

(A) B - (B) Hie

(C) TTX (D) firex

In Rajasthan, the post of Governor is

successor to the Raj Pramukh. On 30%
March, 1949, when Greater Rajasthan
State was constituted, who was made the
Raj Pramukh ?

(A) Sawai Jaisingh

(B) Sawai Mansingh

(C) Maharao Bheemsingh

(D) Maharana Bhupalsingh

TR A TSUE 1 98 TIqE
JTEdl & | 30 W, 1949 W, I gEq
TSR TS <1 T fohdT TRIT, 9 TS
@ ST T 7

(A) GaTE SAfiE

(B) HaTE HHIE

(C) wewmE ¥fimfig

(D) WERIN YUTCI(EE

Consider the following statements with
reference to Lokayukta in Rajasthan :

1. Justice ID. Dua was the first

Lokayukta of Rajasthan.

2. Lokayukta shall not indulge in
business.

3. He should be a member of

Parliament or Legislative Assembly.
Which of the above are correct ?
TR AR & wed # Frafafaa
AT T R IR :
1. mzrtgﬁagé.sﬁ. ST TS & JUH
|

NIEARES] :
2. AehIgeR S & e Tl 8w |
3. 9 9ue I U™ 9w %1 9g8 B

=1feq |
SgmAART AT E ¢
(A) 1,2,3 (B) 2,3
© 1,2 M) 1,3



123.

124,

Which of the following pair is incorrect ?

(A) Meenakari - Jaipur

(B) AjrakhPrint - Sanganer

(C) Teracotta Art — Molela

(D) Thewa Art - Pratapgarh
Freforiad 3 & i a1 g GART TR 7
(A) W - TR

B) sw@fie - @it

C) Twfies - Aden

D) dHFA - TG

Which of the following is not correctly
matched ?

Tourism Place District

(A) Bhatner Fort — Hanumangarh

(B) Menal — Ajmer

(C) Osian ~ Jodhpur

(D) Kailadevi temple — Karauli

- Feffeada s orgafm adi R ¢

Wi WA e

(A) e gt ~ AT

(B) BT ~ 3T

(C) anfeat — SR

1285.

(D) Femea wIHfR - wHeh

In 1903, who imposed ‘Chanwari’ across
his jagir holdings, which everyone was
expected to pay at the marriage of their
daughters ?

(A) Rao Krishan Singh

(B) Rao Prithvi Singh

(C) Kesari Singh

(D) Bhoop Singh . ;

T 1903 o forem 3rqa St & A ‘<ol
& T, T T it ot it % farg
% WHY o Tufdra o ¢

(A) T FWI¥E  (B) TE yeAifiE
(C) wuiifeg (D) uRig

s

l128.

2
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126.

127.

Read the following facts about the Vijaya

Stambha (Victory tower) of Chittorgarh :

1. This is popular that it was built by
Maharana Kumbha.

2. Ithastotal 11 storey.

3. There is a statue of Jaita carved in it.

Of the above, correct facts are

FrditeTe & foom ww & aR & e get &1

wR |

1. ¥ g 8 7% 38 wewom $on 3
TG AT |

2. T Fer 11 uRet # |
3. 3ad Sar il ehi f |

o 3 A ud aea ¥
(A) 1,2,3 ®) 1,2
©) 2,3 D) 1,3

Which of the following are the
contiguous districts of Rajasthan ?

(A) Jhalawar, Bundi, Tonk

(B) Sirohi, Pali, Jalore

(C) Churu, Jhunjhunu, Jaipur

(D) Sirohi, Barmer, Jaisalmer

Frafafga 1 9 = @ Toe™ & gew e
g7

(A) FemETS, 14, T

(B) R, areft, Sei

(C) I¥, I, X

(D) T, semr, Saer

The constitutional status was given to
Panchayats under article :

fa Igede % deq TImEEl Sl gdurhe
gt feam e 2

(A) 227 (B) 243

©) 241 (D) 221

The famous saint of Medieval Mewat was :
(A) Charandas (B) Laldas

(C) Hariramdas (D) Sundardas
HEFeHTA TaTd o Tiig | &

(A) SOEE  (B) TR

(C) shameE (D) g™
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130.

131.

132.

According to the census 2011, which of
the following district of Rajasthan has
maximum tribal population ?

(A) Udaipur (B) Jaipur

(C) Bikaner (D) None of these
SFRTOMT 2011 % 3R, fie 3 3 Torem &

B R § Afrepan sonfa seeen § 7

(A) TR B) TR
(€) FHxR (D) 5T & g T

Who is responsible for planning and
implementation of Mahatma Gandhi
National Rural Employment Guarantee
Scheme ?

(A) State Government

(B) Gram Panchayat

(C) Gram Sabha

(D) District Rural Development
Authority (DRDA) .
TgTet el T Treior ASHTR RS s

% A 3R Bramema % g w=.
FATEER B ?

(A) TSI TSR
(B) U™ Y=

- (C) amEw
(D) e urftor ferebra siftreRtor (DRDA)
Following battles are mile-stones in
History of Rajasthan :
1. Battle of Khanwa
2. Battle of Bhatner
3. Battle of Sumel-Giri
4. Battle of Haldi-Ghati
Arrange these battles in correct datewise
chronologicai order and choose the
correct answer : ]
frafefaa 3g Toeum % sfem o ohm
ILEX F
l. GFAIHYE 2. MR H IS
3. ga-fiR w1 gg 4. T F1 g
I8 ! ud fafeen o W@ gu, I
1 I IR
(A) 1,2,3,4 B) 2,1,3,4
©) 1,2,4,3 (D) 1,3,4,2
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133.

(A) 2TE 4

134.

(C) =,

135.

Which of the following Rajput Sardars
fought with favour of Rana Pratap in the
battle of Haldighati ?

1. Ram Singh Tanwar (Rarﬁ Saha)
2. Bida Jhala

3. Rawat Krishandas Chundawat

4. Madho Singh Kachwaha

Choose the correct answer from the given
codes : '

(A) 2and 4 (B) 1,2,3dnd 4
(C) 1,2and3 (D) 1and 3
Frferfiga & 1 A T TER Fee el
HIEATMIAUHogH TR Y 7
1. THRiEdR (meE)

e e

2
3. TFd FWRE JUETEa
4

ﬁ%@fﬁ%mma‘éwmw
A _
B) 1,2,3w 4

(C) 1,2w&3 (D) 1Td3

Name of birth place of Tejaji is

(A) Khadnal (B) Asind

(C) Kolu (D) Dadrewa

AT 3 S LA 6T 71 8

(A) T (B) 3THig
(D) gaXan

Phooldol festival is celebrated by

(A) Vallabh Sect (B) Ramsnehi Sect

(C) Satnam Sect (D) Parnami Sect

"GEIE Ieda AT T 8

(A) TEAN YT R (B) THAE U GRT

(C) SaMM YUY g0 (D) T 9¥ g
: =]



136. Which Article of the Indian Constitution

137.

138.

139.

- responsibility, qualification, salaries and

ST, e 3 s A WA R 7

(A) FTWT 162 (B) IH{RT 265
(C) JT|T 164 (D) FT=RE 207
In Rajasthan, how many Legislative

~for the candidates belonging to the

deals with the appointment, tenure,

allowances of the ministers of State ?
(A) Article 162 (B) Article 265
(C) Article 164 (D) Article 207
R Gl %1 S @1 s T %

At g, wrww, e,

Assembly Constituencies are reserved

Scheduled Castes and Scheduled Tribes
respectively ?

T 3 fefem fererr et - 8 s

Fgfa Wi SR srgie S % | 141,

Sfteand 3 fore e § 7

(A) 34,25 B) 25,34

(C) 36,23 (D) None of these /
FHARE ?ﬁf

The subject of ‘Mundiyar Ri Khyat’ is
(A) Hadas of Bundi '
(B) Sisodiya of Mewar

(C) Rathores of Marwar

(D) Chauhan of Sirohi

Yo § @ w g g -
(4) ¥ * wr -
(B) Frare % Rrahfen
(C) HRETE & RIS
(D) R & hem

Rajasthan Information Commission is
established on

(A) June, 2004
(C) May, 2008
TSI 31
(A) IH, 2004 Ht
(C) W, 2008 %

(B) April, 2006
(D) April, 2009
FTET Y T g8

(B) 319, 2006 #!
(D) 3mdet, 2009 I
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140. Which of the following pair of different

stages of unification of Rajasthan and

relevant dates is incorrect ?
Stages of
Unification

(A) Second Stage— 25 March, 1948

(B) Third Stage — 25 March, 1949

(C) Fourth Stage — 30 March, 1949

Dates

(D) Fifth Stage - 15 May, 1949
TSTEYT TehieeeT & ferfir=T <on) we gt}
fREi e Qs g s @ R 7

TEhHIEHTUT T fofr
i

(A) ffm=mr -~ 259, 1948

(B) g =wr -~ 257, 1949

©) sgf=or - 307, 1949

(D) Jem = - 157, 1949

Who among the following of Rajasthan is
honoured by Padmashri award
announced in 2021 ?

(A) Arjun Singh Shekhawat

(B) Lakha Khan

(C) Shyam Sundar Paliwal

(D) All of these

§92021 Ty ‘agmsft’ T A T

@ ford st o a7
(A) TIARIE IEEa

(B) SRET@H

(C) TG Treftarrer
(D) &+t

. Who is appointed as Chairman of

Rajasthan Human Rights Commission in
January 2021 ?

(A) GK. Vyas

(B) Mahesh Goyal

(C) Banwarilal Sharma

(D) None of these

T 2021 ¥ fRR ToeyE AETtEeR
- T T Sreay Ty R e R 7

(A) NF. =@ (B) RIS
(C) sariee vt (D) T | i 7
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143.

144.

145.

146.

Which of the following edition of Jaipur
Literature festival was organised from
19 to 28 February, 2021 ? ]

S foeR Sfesa wm A a sm @
&R 19 | 28 B, 2021 T AT
gam o ?

(A) 14 (B) 15

©) 12 (D) 13
Revolutionaries of which place of
Rajasthan gave slogan ‘Chalo Delhi !
Maro Firangi’ (Go Delhi ! Kill
Britishers) ?

(A) Neemuch Cantonment (barracks)

(B) Naseerabad Cantonment %

(C) Khairwada Cantonment
(D) Erinpura Cantonment

wen) fegett | Ay et 1 T AR TeRY
% ! % shifasial 3 fear e ¢

(A) g BEE (B) EHETE BTE
(C) QST BTt (D) TRART BeT

Ramnath Chaudhary is associated with
which musical instrument ?

(A) Algoza (B) Pungi

(C) Dholak (D) None of these
T el o HeY fRg S A R 2
(A) e (B) T

(C) @ ©) FEATETE

Which among the following statements is

wrong about great poet Suryamal ?

(A) He described the history of Bundi.

(B) Bravery feelings have emerged from
his poetry.

(C) He was the resident of Mewar.

(D) Vansh Bhaskar was his famous Epic.

HEH Wi et & g H ﬁm A A @

HYA AT B 7

(A) s@ﬁa@%mmaﬁ:mt

(B) $eh! <hieran & SETgL ol WIS &1 368
gargl

©) %rﬁms%ﬁarwﬁs}!

(D) o7 MR 76T WRIG IR £ |

104A
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147.

148.

149.

‘Gulabo Sapera’ is famous in which field ?
(A) Folk Singing (B) Folk Dance .
(C) Mukhia (D) Sports

Tt wUT e & % fag Tfeg R 7
(A) e T (B) &% T

(€) T (D) B«

If the Chairman/Member of Rajasthan
Public Service Commission intends to
resign, then he/she will give hls/her
resignation letter to : :

(A) Prime Minister (B) Governor

(C) Chief Minister (D) President

I} TORUA AR WA TR W

e /aee FEA® S =TEd 7, @ 98
ST 93 foRg e 7

(A) guEEft (B) T<I9TA

(C) gemft (D) Trgafe

Name the personality who is also known
as ‘Abhinav Bharatacharya’.

(A) Maharaja Jaswant Singh -II

(B) Maharana Kumbha

(C) Maharana Pratap

(D) Nagabhatta-I

34 safekied 1 AW FaTse o T ‘Srha
W % 9 | ot e S g |

(A) BT SEadreg-11

(B) WETIOT 1

(C) HgIon Jdqy

(D) ArTHE-1

. Arrange the heights of following peaksbof

Aravali mountain range in ascending
order :
a. Jarga b. Ser

¢. Delwara d. Guru Shikhar
el geaHTen ) fm =t Sed
% Hgd o 1 e ol
a. S b. W
c. fewmmer d TEfmr
(A) a,b,c,d (B) a,¢c,b,d
(C) c,a,b,d (D) a,d,b, ¢
=]



